






EQUATION SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +



50x² – 60x + 16 = 0 

20y² – 32y + 12 = 0 1. X > Y
2.X < Y
3.X  ≥ Y
4.X  ≤  Y
5.X = Y 
or CND

EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +



21X2 - 17X + 2 = 0

56Y2 - 15Y + 1 = 0 1. X > Y
2.X < Y
3.X  ≥ Y
4.X  ≤  Y
5.X = Y 
or CND

EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +



30x² – 44x + 16 = 0

10y2 + 14y − 48 = 0  1. X > Y
2.X < Y
3.X  ≥ Y
4.X  ≤  Y
5.X = Y 
or CND

EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +



6X2 - 23X - 55 = 0

3Y2 - 25Y + 38 = 0 1. X > Y
2.X < Y
3.X  ≥ Y
4.X  ≤  Y
5.X = Y 
or CND

EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +



21X2 - 122X + 165 = 0

7Y2 - 54Y + 99 = 0 1. X > Y
2.X < Y
3.X  ≥ Y
4.X  ≤  Y
5.X = Y 
or CND

EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +



20x2 + 6x – 36 = 0

88y2 – 7y – 15 = 0 1. X > Y
2.X < Y
3.X  ≥ Y
4.X  ≤  Y
5.X = Y 
or CND

EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +



12X2 + 11X - 56 = 0

6Y2 + 29Y + 35 = 0 1. X > Y
2.X < Y
3.X  ≥ Y
4.X  ≤  Y
5.X = Y 
or CND

EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +



20x2 – 119x + 176 = 0

14y2 + 43y + 33 = 0 1. X > Y
2.X < Y
3.X  ≥ Y
4.X  ≤  Y
5.X = Y 
or CND

EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +



6X2 - 19X + 15 = 0

10Y2 - 29Y + 21 = 0 1. X > Y
2.X < Y
3.X  ≥ Y
4.X  ≤  Y
5.X = Y 
or CND

EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +



3X2 + 29X + 68 = 0

15Y2 + 68Y + 77 = 0 1. X > Y
2.X < Y
3.X  ≥ Y
4.X  ≤  Y
5.X = Y 
or CND

EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +



10X2 - X - 119 = 0

3Y2 - 20Y + 32 = 0 1. X > Y
2.X < Y
3.X  ≥ Y
4.X  ≤  Y
5.X = Y 
or CND

EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +



6X2 - 7X + 2 = 0

20Y2 - 31Y + 12 = 0 1. X > Y
2.X < Y
3.X  ≥ Y
4.X  ≤  Y
5.X = Y 
or CND

EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +



10x2 + 38x +24 = 0

12y2 + 34y +14 = 0  1. X > Y
2.X < Y
3.X  ≥ Y
4.X  ≤  Y
5.X = Y 
or CND

EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +



72x2 – 101x + 35 = 0

45y2 – 62y + 21 = 0 1. X > Y
2.X < Y
3.X  ≥ Y
4.X  ≤  Y
5.X = Y 
or CND

EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +



143x2 + 43x – 66 = 0

56y2 + 15y – 56 = 0 1. X > Y
2.X < Y
3.X  ≥ Y
4.X  ≤  Y
5.X = Y 
or CND

EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +



15x2 − 46x + 35 = 0

55y2 - 53y + 12 = 0 1. X > Y
2.X < Y
3.X  ≥ Y
4.X  ≤  Y
5.X = Y 
or CND

EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +



117x2 + 128x + 35 = 0

39y2 – 31y – 28 = 0 1. X > Y
2.X < Y
3.X  ≥ Y
4.X  ≤  Y
5.X = Y 
or CND

EQN SIGN ROOT SIGN

+  , + - ,  -

- ,  + +  ,  +

- ,  - +  ,  -

+  ,  - - ,  +


